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1. (D). Hom. konivainte mur L= {{an}: x,5eV veteh b duy #Ql= (3)=3.

Dan MA;=%§—’7=($)(,‘)/34=§ , analovg P(B)=%, en P(AnB) =
= (3)(3))a6 =t =4t =0A)P@B): Aen B avthasklih,

one .

W(I:Hoobgﬁ-oa heek.) = P((AuB) 0 .1 (Aj, v i) n (AL aBE)) =
= {#’((Aug)‘)}“ P(AnBE) = { P(4ABE) YT peanpe) 228 duaq g

{te).

= Ao, pao YT ReA) ) = (9
li). PCI: $100) = Lg PCL: 100 by bose Luod.) = § ey é ot :
(iv). 2y Y.= #gtdent van I : € {0,50,100), met ”(9=100)=§ en (rremeinit )
P(Yy=0)=P(Latler )= & dur P(Y=50)=F. Aldur ¢ EY=30-L4100.§ = 50,

2. (j}. Veor xe(0,1) : Fx) = foxaﬁa"ott = x? . Daar u»\m Focr= 1,6 F hanrdelbled,
2

(k) . ’Exl-: !m x* ftx) dx = fo’ xt, 'Jx:)‘4 dx = f’ qu”alx = m .
(4
U, P(X<ab [Xg )= P(Xcab) [P(X<b) = F@b)/F(6) = (ab)/ 6 < o = P(X<a),

(iv). Veor xe(o1) : ¥ ;py (e) = Pluex)=PUex®) = () =x? = P uhax,

3. (7). Hom. harmwruimte mes SL = f[xf,xz,:g) L X1, X,X3 € V mesdd } cdar $(Q) =907

(A) 2-2.1 1
2Y T 8.9.3 4
liy. 2§ X:= #beren A bg 12 k™ din (nepa, b= F) vordetd | dur . geor hanp <
#iytn
= P(X22) = 1-P(X<s1) = /= (}‘J) - “';T/'(j%)ﬂ- Veem Y Vo{JWn[A:»\b;é)-
verdedd 5 daav phlein, ;p P(X22) X P(Yy=2) = 1- Ply<r) = ,’%e_r/;'
Gi). 25 2:= # berodipde herk™ . geow (3= L) vedewtd | ducp . BCZ<h) = ple-pyh=! o
— L (P k9
= 3 (6’7;) ~tor ke N

Yy (i), 25 Di=dalerdige mg gekoren }, dan (XID) fin(3,2p) en (X[D) 4in(3,p) veet ,
MHdup (p P(X<2) = 1— J; P(X=31D) P(D) + P{X=3 'D¢) W(D‘)} =

= fent e 2R =0 ;
(ii). 6eur kast = P(D]X<2) = PCY<uiD) P(D) /] P(X<2) = 41-134) 5’5 :3-2(#133
. | . _2_?_-#3 5‘_1‘*?.
3

i), Y=1000+ 250X , duwr [EY =l000+ 280- £EX. Al b=, dan Lh

Ex= E(XID) P(P)+ E(X(D) POOT) = 3ab. 3+ 34 =2, =2,




